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 Quetion Answer
t squared txt
"""""""""""""""" voqued | owew
"""""""""""" cmiigisdbye | ¢
 etepwes | o
"""""""""""""" caviedbys s
"""""""""""""" ciwidedbyz | w2
"""""""""""""" yawdedbys | s
""""""""""""" yavidedyd
""" Wiog henmitplyallby s agey
""" T
""" d2on benmliplyallbys | xa+
i temiipyalbys | asn
"""""""""""""""""""" crere %
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5 multiplied by p 5p
S o
"""""""""""""""""""""""" e e
I © cxd
""""""""""""""""""""""""" T
e 2
C amipiebys b
"""""" miltplyaby b enadde  abre
""""""" iy by tenadds  wes
mitpledbyymiipledby: v
"""""""""" pespareroototn

""""""""""" A
C Setepwers s
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3c 4c % XVZ |x(a+2) 4}; 4p c x 4|xfat+2)
e’ |txt @t % S5p | ¢ ||xyvz [wxwpytz
abtc| ab | 5 Vx [ ab | Vm [ [3@b) 5 | e
X
% g4 |patb) 3 [Kytzfabtc] |¥at2dfxytz 5"':
. 4 T 4
\x % cx2|lex2| 5p |txt]]| 4p 5 [wxw
3¢ |jx 2|wxw| [3@b)| 4c ] X 2] |3@b)|c x 4] xyz
. y Y.
1x2| ¢ % 4 lex?2 % 9 lix 4| 4p
Vx | 3¢ |cx4 % ¢ |)x4 Vm | 4¢ |txt
txt|xz |sa2 pbrefiernf Sp % 7(er1abie
x2f 2 | : 2] e
Jx2l 3 fex 2| |42 € | 5p 3 X
xy+z| ab | ¢ Vm |7+ ab | 4@ 4P |c x 4
y x L y
3¢ |ab+cla@+2) 9|5 M| 2 | x4| 4
I L
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5 [aa 5 || Vx| e [ixdffvxe{Vm | 3
txt I lcx4 c? i + 4 ,:'(u+3j. i .
c - ) XY TZ C )
3¢ | Vm |j x 2| 2| x 4] xyz || Vx | xpz [jx2
Vx | ¢ % wxw| 4¢c | €’ % 4p |xytz
=11 r -
3atb)| 3¢ [¢ x4 fabtc|] 5 Pab)| | x2|txt 5
X
xy+z|] x 4 5 ab | 5p 4" | |3@+b) 4 [cX 2
214 d sp|lix2] 2]
3 c |txt][|xet2|C X plpX 9 o
4 |cx2 % 5 lcx2|jx 4| [abtc| ¢z | 4p
ab+c| Xyz | 3¢ ¢ |3@| ab | |4@2)|c x 2 ?(t+1)|
y : X
3c fwxw| e || 47 | Sp |txt|[ix4 = | 4p
Vm |42 |xy+z] [4@2) % % Vm |4@'2) %
s | xvz i) fabte| ab D) | 5T ?{t-i—l)lw};w-
=
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xy+z| 5p %? ac | 47 1) le x 2| Vm %
Vx [wxw| 3c Vx % 1x2 \x % jx 4
xyz | ab ?{1—11 cx4| ¢ | 4p ||txt]| 4p |x@+2)
Y=
X X b
5 x4 5
Vm | e |42
3a+b)| ab | 4c



